FBITRFESEFR/NAL—R—IILEFIERSEMX T ES (XFDE)
SM7E48128(X)-138(A) BifE 8:30 K=E=E 8:45 A= 9:00 7°'ab3-)L 9:30
LKEIE> MIESEFERAEE X ERIARAERE~DHIBEFED XHEALEI0XETIEEIRENDF—LBETEF—LD7OT7HEE A
(381BB] F&E+—FAVK [(52BB) BGREE
AT IW—TF()—TH)

Bk E|E B ¥ |82 T R | BN |wobE A Al
BIo—F 2% - 1 25 - 1 BKrE —
=K o B 2[25 - 1(7)]0 2[ 25 - 22]0 2-0 1 s 2[25 _ oo >3<
F4—F 23 - 2 g -
EmEmE
=] 0_2 0[ 20 - 2;]2 0_2 3 -~ 1B
2] B X - 19 25 y
2125 - 1911 ] B
R 0-2 2-0 1-1 2 B2fir 25 - 2
s 2 B R - :
mil& A
(25 - 11 x| 7K
BT WL—TF()—J#) - 2\25: 1410}
s m % B | BZZH| B |[wE B EER E
Eoo—F 25 - 22 25 - 17 0 1 [25 - 13} y
2| 25 - 4{0|2] 25 - 9|0 - 2|25 - 13[0
i = ol = 9 e 277 90
F3IL—F 25 - O — -
5__~
o= 0-2 2[ 25 - 12]0 1-1 2 B = #H o~ 20
- B 2| 21 - 2501 %
= 20 - 25
; B=Em 0-2 0-2 0-2 S I
X3EK S
LVEES =
[FE)—JHEIE] 25 - 16 X
I A3 — K /mpa| | I8 B 3 — K /MR 2|25 - 23|05+ I&
1T FE XKy B -5 B RIKEES 1 & - B = & H|RKE/MHME i
2 1B B X -8 B RIKECEK 2 | I & - & = & H| RK&/I& T
3 |IE Ky BE -8B B X¥IKEER 3 & - i &|IRE/=E '
JI& X a — F+ B /HHE
1T i B -8 B EIKE/A
2 18 B R - & = % H|/KE/BI
3 E Ky BE-& B FEIREXK
- 14 241 3fz A4 4 S -2 ' EREYIK
1AL N —_
ok 18 = E A 15 g 5 | Kk »# BE -8B B R X34K
AUk 5 4 3 2 6 5 -8 B X X5mW




